X271 77"7 '01n 2,89 2"2 .7"02

And R21 is according to 1'' — R7O17 295 N2

OVERVIEW'

The X 3 explained that the reason X237 maintains that we cannot accept the 7V
RN7aR since these 07y were already contradicted concerning 793R, is because X2
agrees with X701 27 that o°wnowan 07y are 2100 for all testimony. mo0n finds this
assumption to be in contradiction with another ruling of X21.

mooIn asks:
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And if you will say; if this is true; that X237 agrees with 1" that 2>7v who
contradict each other are 5109 for all M"7y, then why does X297 consider in 79
72 -
— NN VTN OO TY (px rnnnn Ma27 0wl x,19 97 Ppa1me) 9912 1T PI992)Y
And in 9712 777 P95 that an 0117 7Y is a novelty. The novelty of am7 7v is that you believe
the 0°7¥ who are being 071 over the 2>7v who are being onn. —
— 2PN NYWN RN 12 79 1N
And therefore, since it is a ¥17°1, you cannot retain in this v17n of believing the Prom
and discrediting the onrn only from the time of its w751 The oommr 07y become
discredited from the time of the testimony of the a2 and onwards. However any testimony
they gave prior to becoming 7111 2°7¥, even if it was given after the testimony for which they
ultimately became 0°»117 0°7¥, that testimony is valid. This is the basis for s'%27 ruling (according
to one opinion) that Y091 X1 X272 31 om1 7v.° The question is; if X271 agrees with X701 27, what
is the w10 of o 07 -
— VYN 1N DD NINY NN NI
For is it not so, that the fact that the 11 79 becomes 7109, that is not a 2777 -
— 1T N N MYININD DMTY INI IV 1195 DDV 1D%YH MIND NN 111 )1 XNY
For rightfully the ruling should be that they should both be 05; the o7y
o 1A and the 2am1 0°7v for they are contradicting each other. Therefore they are
just like two groups of 2’7 who contradict each other. In that case both groups are

2109; this is the ruling of X701 27, to which X237 agrees. The same should apply to the oonmir o7y
and the o 17 0°7v.

' See ‘Overview’ to % K 7"7 X,X? Moo,
? Logically the om1 79 should become 9105 from the time of the original testimony. For it is at that time that he lied.
We are not aware of it till the actual n17, but the 2109 is on account of his lying. 827 agrees to this logic. However
the fact that X171 w70 o 7v precludes us from acting on the logic. Rather we maintain Y170 X928 12 77 TX.
? See previous % K 71"7 X,X? Moo,
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Therefore there is no v17°17 in the 2109 of the Pnn 07y, It is to be expected; for
every 11 is also implicitly a 7wna7 but rather the only ¥17°17 is that the 2%t are

Q%W2; even though the 1»n1r 0°7Y contradict the 111, nevertheless the 1n°m are believed and
are 0°7Ww> 2°7v. This should not affect the 7109 of the 7»211 2°7v. Since there is no W17°1 in their
2109 they should be ¥y191% 7109, from the time they gave the testimony which leads to their 1.
Why therefore does &17 maintain that 2091 X7 X721 J¥on O 7Y since it is a w17°n, when in
reality it is not a wh7°m.

mooIN answers:
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And the ' says that when the X7 maintains that X327 said that 7v o»17 is a
w7, this applies only according to the conclusion of our X33 that X297 can
rightfully agree with X137 27, who maintains that the o°w°na»7 2°7¥ °nd 1w remain 07y
w3 (except for M7y 7NRA, where they are 709). If X217 agrees with X177 29, then the fact that

the 711 0°7y are 7109 for all N7y, that is a wh7°n, therefore WI7°n NYwn X9X 12 7% TR, and that is
why 9051 X7 X272 1801 QN7 Y.

SUMMARY
The idea that X7 w171 17 79 follows the ruling of X177 27 that by *m "0 the o7y
remain 2°7W2 D>7V.

THINKING IT OVER

From n»oI1n answer it seems that when the X773 assumed that X701 275 X209, then
27 could not maintain X171 w170 on7 7v. However in a previous moon,” it is clearly
stated (according to one answer) that our entire X210 (including that X701 272 X27)
must follow the view of X177 w1 7n amyr 797
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% See X"wAmn.
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